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GSE Geometry
Name:

Date:

Block:
Unit 1 Review: Geometry Basics
Learning Target #1: Basics of Geometry & Definitions
For problems 1-3, name the types of angles (complementary, supplementary, or vertical) and find b.

1. 2. 3.

Svppl<¢ mantan Y . et 24220
i +35=145 ‘ meb= 145 l ’:“M = w'j

4. Inthe diagram below, /1 and /2 are a linear 5. Find mZ4 in the diagram below if
pair. Find m£1ifmZ1=2x-9and m/2 = 10x + 9. m£1=8x+6and ms3 =5x+21.
MO EML2= (D MLl=med
0x9+10x4 4= (%0 ""“3825)* BX+l = Sx 42
mel= Hb L= 2|
12X = 1Y0 PN
m<[+méh = 2y =15

@ Ll(a'{,mu}:(%’b W [X=5 i

Solve for x.

6. 7. 8.
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Leaming Target #2: Geometry Relationships

Find the indicated length.

pR4 RS =03 " RT 24
Y4 Rs=1b
Rs=12

Solve for x.

11. x+8
I

X+
*—e G
H

| =

X+§+xx3="1
2x+1l="]
2x=-Y

X=-2

|= >
2x+3

QX+l =2x+3

Find the indicated length.
15.

Find IJ
11 x+14  15+x
G . .

Il X+ 14#1DF X= X133

X+ Yo =%+33
X tYo=35

G
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10.

Find SR
r . o
s R

Q

11

]’RT =23 \ TS:45¢ TS +”3a = 14 T S+3R+RQ=2
Rzl SR + RO-= /[
Y-SR +SR+I\-SR =22

—30=-3

T

25-3R =22
12. 4

2x+ 8
R

S

|
12+x

Uy 2x+= 12+ X
Xyiz=12

14. 2x+30 x+18

2x+ 27
. H
J I

18

DX+ 36+%+lor 2% 427=

M+73=1%
5)(:"5%
16. j X:-”>
Find SV

X¥2[ +15 — (2x414) = X+32
X +3b- 2% -4 = 432
“-X4+22 =X x32
- ¥ - X

T o2x422:3)

- 24z ) X=-b

SV=X+22
Sv:-bL+3?2

!SV:TI'
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17. 18. Z
6X - %)(—2 ¢ Z

A y
+ -37~'—‘qu -
ﬁ'lqc Y-’% B

%x*z°+22x_3= '22

QB is the angle bisector of ZAQC. m£ABC = 122
msAQB = 5x meABD —gx+20 HOX+ n=12%
msBQC = 8x — 24 Mékas-__S(g) m£DBC = 22x — 3 X = |05

X= 3.5
Find the following:

iv’,mﬂ@g:é]g 35 - Y 420

5% Yo+40 TR 8(35yt2e

meBo¥ :jLSmMQC =iz%? neove= 113 2(35)3

19. 20. 21.
L 7 A
[ / /
(IT - - ;’{: » - -
.'I / J
. fer nante ey nae
CorrespondatVy Aén-\—t"’iOY ex e’

anles O s
22. Ifp Il g and m£2 = 75°, find the measures of all the angles formed by the parallel lines cut by the
transversal.

P S?__‘IA’\s msl = ’D‘) mLZ-:, S ?1'1.43:")6 mLf-l:_lS
’\ 7
A

’ﬁys mLS:@ mAErZ__-'_S m47=m m48=j_s_
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Solve for x.
23. 24,
\\\
T g
. x+60N\x+138 - -
> \\

Ox+ [A3= 1%V
1x=-1%
|x=—ﬂ}

IFER

Determine the measure of ZABC.
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323x-2= 23Xt

Ix-2 =0
1x =§

2%, / 2. A
- oy - 115° \B C
A /e " J \\ L
QBx—%ﬂo/: go M <RBLEZES +1-11S MEABC=11S
23%+b>= 180 meC-2345)+S - U ver ki e?

22 =115
X= S

Learning Target #3: Algebraic & Geometric Proofs

N

X-= (o

qat
ey

Match the property to each statement (PROPERTIES CAN BE USED MORE THAN ONCE).

28. 1D | CD=15 and LM =15, then CD = LM.

29, c If AB=3x-2 and x=2, then AB=4.

0. B 16-16

31. D /4=62° and ZB=62°,s0 /A= /B.

32. ( AB=2x+2 and DE=4x-1. AB=DE s0 2x+2=4x 1,

33. B 2x+1=6 and 6=2x+1.

A. Symmetric Property
B. Reflexive Property
C. Substitution Property

D. Transitive Property
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34. Complete the proof. B
GIVEN: M is the midpoint of segment AB. M e A5
PROVE: x = 4 A -3 ‘
5 X
Statements Reasons

1. | M is the midpoint of segment AB. (‘9: Je m

2. m N W& Definition of a midpoint

3. _

AM = MR ™™ hnton of Congruent Soamens
4. 5x—-3=8x-15
S v bS"h‘\'M‘h oY)
5| -3=3x-15
Subtrachdn P Ybﬁ)m'u of eq

6. l 2 — 3 K Addition Property

7. LI, - X Division Property

8.| x=4

35. Complete the proof.
GIVEN: f || g, his a transversal

PROVE: 21 and £4 are supplementary

Summedrs ¢ Popedy
J ) ) d_

Bl
@i~

Statements Reasons

1.| £ Il g, hisa transversal G
v £ V\

2_4|{=42 and <3 §<4 ) :

Ave [NAr PoIVS. Ddinitvmnm of alincay Paiv
i Linear Paifs ave Svpp)epmuntary
4. Z 3 ,\. 4&_’ = \ QZO Linear palrs are supplementary
5| A=.3 ]

CA(N’SPMAM% 4*\3\95 AVR Cﬁhjva
6. <’ + <LI - ,?6 Substitution
1<\ and ¢4 ave Sipelemed |
ML)

L Ddaorhen & Suemp\e T A 3
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